Buyer's Guide

foam and impact plastic dinnerware with dome covers



DART CONTAINER CORPORATION

Foam Plastic Dinnerware

The attractive design of Dart foam dinnerware is lightweight yet strong enough to hold a full portion of food without bending. Superior insulation makes it perfect for serving both hot and cold foods. Quiet Classic dinnerware lines are laminated for extra strength and gloss. Our Concorde dinnerware line offers the same Dart quality in a non-laminated version.

Laminated



	Stock Number		Description	Packing Per Bag	Packing Per Case	Case Case Cube Weight	Case Case Cube Weight
White	Honey	Black				White & Honey	Black
3.5BWWQ	3.5BWHQ	3.5BWBQ	3 ¹ / ₂ -4 oz. Bowl	125	1000	2.0 4.6	2.0 4.6
5BWWQ	5BWHQ	5BWBQ	5-6 oz. Bowl	125	1000	2.3 5.2	2.3 5.2
12BWWQ	12BWHQ	12BWBQ	10-12 oz. Bowl	125	1000	4.0 9.4	4.0 9.9
6PWQ	6PHQ	6PBQ	6" Plate	125	1000	2.9 8.0	2.9 8.0
7PWQ	7PHQ	7PBQ	7" Plate	125	1000	3.9 9.8	3.9 9.8
9PWQ	9PHQ	9PBQ	9" Plate	125	500	3.5 9.8	3.5 10.0
9CPWQ	9CPHQ	9CPBQ	9" Compartmented Plate	125	500	3.5 10.0	3.5 10.0
10PWQ	10PHQ	10PBQ	101/4" Plate	125	500	4.6 12.7	4.6 13.1
10CPWQ	10CPHQ	10CPBQ	101/4" Compartmented Plate	125	500	5.0 13.2	5.0 13.2
9PRWQ	9PRHQ	9PRBQ	9" Platter	125	500	2.7 7.9	2.7 8.7
11PRWQ	11PRHQ	11PRBQ	11" Platter	125	500	3.4 10.2	3.4 10.2
	8CDHQ	8CDBQ	8 oz. Casserole Dish	125	1000	4.2 12.3	4.2 12.3



Non-Laminated **CONCORDE**®

Stock Number	Description	Pac Bag	king Case	Case Cube	Case Wt.
White					
3.5BWWC	3 ¹ /2-4 oz. Bowl	125	1000	2.0	4.4
5BWWC	5-6 oz. Bowl	125	1000	2.3	5.0
12BWWC	10-12 oz. Bowl	125	1000	4.0	8.1
6PWC	6" Plate	125	1000	2.9	6.5
7PWC	7" Plate	125	1000	3.9	9.0
9PWC	9" Plate	125	500	3.5	8.1
9CPWC	9" Compartmented Plate	125	500	3.5	8.1
10PWC	101/4" Plate	125	500	4.6	12.3
10CPWC	101/4" Compartmented Plate	125	500	5.0	12.4
9PRWC	9" Platter	125	500	2.7	7.7
11PRWC	11" Platter	125	500	3.4	9.5















3.5BWBQ 3.5BWWC



12BWWQ 12BWHQ 12BWBQ 12BWWC

6PWQ 6PHQ 6PBQ 6PWC

7PWQ 7PHQ 7PBQ 7PWC

9PWQ 9PHQ 9PBQ 9PWC

9CPWQ 9CPHQ 9CPBQ 9CPWC







10CPWQ 10CPHQ 10CPBQ 10CPWC



9PRWQ 9PRHQ 9PRBQ 9PRWC



11PRWQ 11PRHQ 11PRBQ 11PRWC



8CDHQ

Impact Plastic Dinnerware

Add elegance to any meal with Dart Famous Service impact plastic dinnerware. The glossy, china-like finish and rigid construction enhance food presentation. The non-absorbent, cut-resistant surface keeps sauces from soaking through. Decorative, yet functional, the rim design offers a sophisticated accent while providing for easy product separation. Famous Service also nests more closely than foam or conventional dinnerware, saving you money by reducing storage requirements.

FAMOUSERVICE.

Stock		Packing		Case	Case
Number	Description	Bag	Case	Cube	Wt.
White					
4BWWF	3 ¹ / ₂ -4 oz. Bowl	125	1000	0.6	9.6
5BWWF	5-6 oz. Bowl	125	1000	0.7	10.7
12BWWF	10-12 oz. Bowl	125	1000	1.2	16.6
6PWF	6" Plate	125	1000	1.0	14.9
7PWF	7" Plate	125	1000	1.2	18.1
9PWF	9" Plate	125	500	1.0	17.1
9CPWF	9" Compartmented Plate	125	500	1.0	17.6
10PWF	101/4" Plate	125	500	1.3	23.8
10CPWF	101/4" Compartmented Plate	125	500	1.3	23.9
11PRWF	11" Platter	125	500	1.3	23.1



























Dome Covers for Dinnerware

Dart dome covers are the ideal complement to our dinnerware lines. A secure seal protects and preserves the freshness of your food while allowing for maximum visual appeal. They're perfect for merchandising pre-packaged salads, sandwiches, and desserts or keeping an entire meal under cover for carryout applications.



Stock Number	Description	Pacl Bag	king Case	Case Cube	Case Wt.	For Use With:
CL5BW	Clear	125	1000	2.4	7.0	3.5BWWQ, 3.5BWHQ, 3.5BWBQ, 3.5BWWC, 5BWWQ, 5BWHQ, 5BWBQ, 5BWWC, 4BWWF
CL12BW	Clear	125	1000	4.4	11.8	12BWWQ, 12BWHQ, 12BWBQ, 12BWWC, 12BWWF, 6PWQ, 6PHQ, 6PBQ, 6PWC, 6PWF
CL8CD	Clear	125	1000	4.9	14.9	8CDHQ, 8CDBQ
CL9P	Clear	125	500	4.9	15.9	9PWQ, 9PHQ, 9PBQ, 9PWC, 9CPWQ, 9CPHQ, 9CPBQ, 9CPWC
CL9PR	Clear	125	500	6.3	15.4	9PRWQ, 9PRHQ, 9PRBQ, 9PRWC
9CRTF	Translucent	125	500	2.4	25.8	9PWQ, 9PHQ, 9PBQ, 9PWC, 9CPWQ, 9CPHQ, 9CPBQ, 9CPWC, 9PWF, 9CPWF













CL5BW

CL12BW

CL8CD

CL9P

CL9PR

9CRTF



DART CONTAINER CORPORATION

The Industry Standard of Excellence

Mason, Michigan 48854 U.S.A. Ph: 800-248-5960 • Fax: 517-676-3883 Email: sales@dart.biz • www.dart.biz